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18 & | s 1] 10 2 0 770 91 0| 1,683| 3,608| 255 74.5 0 0
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3 (& @B Er|af| 1| 10 1 10| 2,200 275 110 2,310| 5,060 | 29.4] 70.6 0 0
4 |& b ;B | aF 3| 10 2 0| 1,001 95 0| 1,958| 3,674 25.8 74.2 0 0
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6% & W af 2| 10 2 0| 1,012 77 0| 1,782| 3,762 30.8] 69.2 0 0
Tz )l ET|&f 1] 10 1 5 990 121 55| 1,260 | 2,470 | 11.2| 88.8 0 0
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|E & | s 1] 10 2 0 814 99 0| 1,903| 3,388| 20.3] 79.7 0 0
12| B | sf| 1| 10 2 0 1,078 82 0| 1,903| 3,333| 21.9] 78.1 0 0
137 #F BT k| 13| 4| 1| 2 10| 2,260 270 0| 2,260| 5,010 55 44 1 0
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28(in = HET|4F| 1| 10| 1| 1 10| 2,043 204 | 110| 2,153| 4,193 | 12.1] 84.8] 3.1 0
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